EARAROBEEIERT — 2 N— IBISH —F

2017818218 (£) 1E+L6H

Bl #%% 10007F ¥5%4%L (B

[$57E]

oN=}
EE

‘ [R1%] & ‘ [REBE] — | & (%) 1800 B

[~®4] 1 7% 15,000,000 @ 2 7 :6,000,000 @ ~ 3 7 :3,800,000 1

4 7% 12,300,000 57 1,500,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1) ¢ o4 | EOHE 1:54.1 11-11-6-9 | 38.6 | 104.9 | 3 536 | /NE—SB (EH)
11713 TFU Zr 28— 6.0 & (g | RETTT
24 %S v ML B:X by PSdie]
. # o6 | ERES 1:54.8 4-4-3-2 | 39.6| 99.4 | 1 504 | SREE ()
217114 bUALIT R — 57.0 (@) (4) | POHIERI
RR—ANFZXHLF— B:vall—FLFg TR
P = st 7 | BRBE 1:55.0 16-15-15-13| 38.2 | 97.2 | 9 492 | BRER (EH)
sBl 3| F>7T1—LA 57.0 ) ey | B) BABMESERAS
LTITRATFIAIN B Ja-NvI T it
> B4 | BEHIES :55.0 10-9-6-7 [39.6| 97.7 | 2 514 | FIEE= (EH)
46| TFAY 56.0 (nF) we) | R
LN—=HANK B:IIVT 1> pelltie ]
. . HHE :55. -11-12- . . M EEM (EH)
5|10 71nkray k> [B] #H o6 =2 1(35/54)1 12-11-12-11{ 39.1 | 96.7 | 16 (5&4) BLET
RTANKETySa BTIAENT—4 DS
$ i 6 | AHEMEE 1:55.2 13-13-13-11{ 39.0 | 95.8 | 7 520 | B/FEAA (i)
s Q11| *Y—71 kY 55.0 (172 o) | EREH LY
R:T— W KT7Ya— BiUIF«>TA— YA T4
=55 =3 4 6 | AIBIEA 1:55.6 13-13-13-13( 39.4 | 92.6 | 8 488 | HHEERR ()
7PN g TYRINVT Ty a 57.0 2 1/2) (+2) ARSI LY
L:TTRIXTFIEIN BRFHINZYNX ¥ Tr—L
i 4 6 | Selif— 1:55.8 4-4-10-9 | 40.2| 91.4 | 12 | 480 |FEE )
815/10 v—JILr—% 57;';.0‘( (11/2) -2) §¥£A$—Jb?{>71 (%)
X LTHANAN B:YTAHE R J—HTr—L
B4 | ATHRU 1:55.8 3-36-5 |40.4| 91.5 | 6 508 | FbA=— (i)
EH 5| 7EF-L 54.0 (75%) Gy | OB n—FH-2557
L:r07x B:I7YaU0T7—K TATAT7—L4L
=70 = 4 4 | HELFNE 1:55.9 15-15-16-16 39.0 | 89.9 | 14 472 | KEEL (EH)
10/5/9|Z71T>E1Z 54.0 (7€) () | RAERE
R:ILLFFE2T1 BTATFIT HET7—L4
AR 4 6 | REER 1:56.1 8-8-6-7 | 40.6 | 89.3 | 13 490 | AREARLT (E@H)
1l1l11%7>3>4> [B] 57.0 (1 1/4) t6) | ) /92
RFFARFFLT BISILTY HET7— L
o 5 3 4 5 | HBER :56.1 6-6-3-5 |40.9| 89.5 | 4 486 | BRRE (EH)
12 FARAMEEE =8 57.0 (NF) (o) | TR
R:NA0 B:T52 FhAy R MY ¢
N N AIEIG :56. -1-1- . . BHZ (ERH)
s 7| T4 7AF 10 (B] 4| 2R A
RiHTIRIAYT BT —KE> FAt Fk
4t 4 | IARS 1:56.9 6-6-3-2 |41.8| 84.2 | 10 | 472 |TIRIEF (i)
14816 TIVT B~ H 56.0 2172 o) |RERE
LiANRTNTGZ By Koy b %3 LA ERABS
S - . > 6 | EHAE 1:57.1 9-9-10-13 | 41.4 | 82.2 | 11 506 | EFRIRRAZ ()
15/8l15| * ¥ v —ZXT v 7 “ 570 1 1/2) Gro) | ) HrFoL—viy
LBATATv— BXvvF—%214 K80 J=HrTr—LA
5 . = 4t 5 | BWEEETT 1:59.0 2-2-2-2 |44.0| 71.9 | 15 | 490 |EEEK (i)
1612 ¥V —7 7 5.0 (51%) o | W EFH-Ty—s-x-azx
LNNLVTSY BhAAIeYal)— KEHS
@ 71 L
) 51.4-39.2
NA>ZA L | 12.6-11.6-13.5-13.2-11.8-12.2-12.9-13.2-13..1
® I —F—@EBIERL
13—3— 7,12,5(10,14) (4,16)1,15,6,13,2(11,8)-9-3
2= = 7,12,5(10,14) (4,16)1(6,15) (2,13) (11,8)-(3,9)
Gol=5r= (x7,12) (16,14,4) (1,5,6,13) (10,15)-2(11,8)-3,9
40—F— 7(12,16,14) (5,4) (1,6) (10,13) (11,2) (3,15,8)-9
[ N3
H OB 13 490M 714K 13-14 470 e E -7 1,1108 JEHE 3-13-14 6,900
8 B 13 210M 3-13 2,220 B = 13-14 1,010 B 13-14-3 19,880M
14 150/ 3-14 1,460M B H 13-14 1,950
8 550M

ABICOVWTRDTEEERROODE. TR LIV,




